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Academic Year i the Student Book (Arabic Version)
20222023 Quastion™ earning Outcoma; R
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Example/Exercise
LaT) gt
2 e
it Identify that electron-volt (eV), is the kinetic energy that an electran gains when 51 150
Sublest Physics accelerated by an electric potential of 1 valt B
Bl bl
2 Relate the work done by force and the grs potential energy for avapiibind e book %
an object lifted from rest to a height h
n
p1:3 |State the law of conservation of energy: "Fora i that occurs inside an isolated system and involves anly & 182
Stream Advanced i forces,the total energy i AEmech = AK + AU =0 or K +U = KO + U0 i
shaall padian
: Apply the law of conservation of mechanical energy for an isolated system [no external forces) with no dissipative
pld - ¥ e 64,63 170
Part(1)- 6 forces involved, to calculate different physical quantities
Part (2) - 10
Part (3)- 4
pLS Identify that kinetic energy is a scalar quantity and is always positive or equal to zera if the object is at rest 6.11,6.12 182
Marks per Main Guestion
o Part(1)-5
Part (2)- 5
pLE Calculate the change in momentum {due to change in velocity) as the difference between the final and initial momenta 74 ns
Part (3)- 5
****Humber of Bonus Questions 2
A e e p2:7 Determine the instantanecus power by taking the dot product of the force vector and an object's velocity vector 548,555,551 152
Marks per Banus Question &
ol i S eyt
paig | Showthatthe work dane on a particle by  force F when the particle undergoes 3 displacement B, is given by the scalar product: 511,530 SR
Typa of All Quastions Part] 1 and 2} MCQ SgerargosL
sl - Part (3) FRQ
* Maximum Overall Grade v : as KE=1/2 my2, measured in joules (1) ar Nm or kgm2 /s2
g Ry
Exam Duration - & 4 120 minutes 3
il p2:10 Calculate graphically the work done on an object from an initial to a final position using a force versus position graph 6.78 186
LR L A ROR BT Swifthssess & Paper-Based ]
| — g
5 Recall the unit of power as watt (W] where 1W=11/5=1 kgm2 /s3 5.5 150
Calculator Allowed 32
AR g
e Calculate the work done on an object by a spring force by integrating the force from the initial position to — .
& the final position of the object or by using the known generic result of that integration 7
23 Apply the law of conservation of mechanical energy for an isolated system (no external forces) i g
i with no dissipative forces involved, to calculate different physical quantities
Identify that collisions can be either elastic, partially inelastic or tatally inelastic. | 711,742 | 216
p2:15 Calculate the linear momentum of a particle as the product of the particle’s mass and velocity | 7.24 | nz
P2:16 | Explain that the total energy, which is the sum of all forms of energy (mechanical and other) is always conserved in an isolated system 618 ,6.17 | 183
p3:17 Calculate the elastic patential energy of a block-spring system | 6.9 [ 182
p3:18 Salve problems related to collision and impulse | 73 ’ 07
Relate impulse to the change in momentum and to average force acting on an object in 3 given time interval At | 12 | 199
’ Apply the relationship between average power, the work done by a force o the associated energy transfer,
p3:20 572 153
and the time interval in which that work is done or energy is transferred [Pavg=W/at
s b ilas b
% p3:21 Solve problems related to power | [
Apply the conservation of linear momenta for an isolated system of particles to relate the initial momenta of the particles to
their final momenta at any later instant. 6. Solve problems related to conservation of linear momentum
While the overall number of marks is 110, the student’s final grade will be out of 100.
Example: if 2 student scores 75 on the exam, the mark will be 75 and if[s)he scores 107, it will be reparted as 100 {maximum possible grade].
100 (o oo AN (S linll Gy O (10 3 AT Sablal Fpama i
Al (§ g ) 100 darl 35 107 Gloniad) dard ol 13] Laiar e i (75 phomta ) oy (i
Questions might appear in a different order in the actual exam, and bonus questions will be clearly marked on the system [or on the Exam paper in the case of G3 and GA).
(685 G3 gahoal) Wlm § onia Ay e o) g e gy Sy AL Ui il s i ol § i iy A gl 38
s It appears In the textbook, LMS, and scheme of work (SoW).
ipkoadll Al LMIS3 el i § oty S
The ions will .0 from the SoW. These L ihin the ones used far the main questions or any ather ones listed in the SoW.
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